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Practice Test #2 ~Chapter 9
Intermediate Algebra — M120

Instructions: All work must be shown in order to receive all points for all questions so practice showing
all work. Practice boxing your final answer. Any answer that is a fraction must be in lowest terms and as
mixed number for full credit. Since you can use a 5x8 notecard on the test use your notecard to practice
or make one based on the problems you got wrong. Happy studying!

1. Use the function to answer the questions that follow: fx)="hx-1" -9

.,o\)

b) Give the x-intercepts’ approx1mate values as ordered pairs: ( 3, 2 OW (;,2 O 3
Round to the nearest tenth. ¥ tve o s\m?\\(: e radxca\s g than

2
E\_—CX“\) —aA=0 = 'é'(X»Dﬁq $5<)K-\):\£/
= = 2 /ig > x=\% 3z 1ruz

a) Give the vertex of the parabola as an ordered pair:

c) Give the y-intercept of the parabola as an ordered pair: CO , X5 \>

Ho-D-a = z()-9= 05-9=-Q¢c

d) Graph the parabola wit;\S ordered pa/'rs (label the ordered pa}ir\s).
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2. The number of households (in millions) that own RV’s, dependent upon the number of
years since 1980, are modeled using the following function.

f(t) = 0.0085t> — 0.16t + 6.48

For this model, in what year will the fewest households own recreational vehicles? Show
all work in getting your answer.

\i;néwxa) VI VN LV wAN 'Exme,. wliich s JE og VQ(RX
. “l:?.__‘i")
2(0.0%9)

Tm lecke A% b Fevsest RV Wouseholds wl)

3. Solve the fol?owmg quadratic using the square root props é\ty (;0 2(x 4% + 5 =27
CAave can e xandh answer vn Wvs most S\m”) had n e T)

20-4Y= 22 o [Gew
= 200

X

4. Solve the following quadratic using the quadratic formula. 5% — 4x = 3
Make sure your answer is simplified, but exach. 7/6 .
K -Ux -2 =0 £
FoX =4 x o o
/ + &
X = ~Ct) *‘/L#) —q(3) (- 1EVTE
2(5) /O
= 4E2h9 /24.2“*»’“) 2+ /7

5. Solve the following quadratic using the zero product property 5 3x* = 5x — 2

Hint: Factoring

A -Bx+ 2= 0O

(2% + \1X~'2> =0
x4\ = 0O x -2 =0

Zx = —\ @
%]
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Solve the following quadratic by completing the square. 3x° — 6x — 33 =0
% C;\\;e, an ex ok i\mi)\ e st ven,

(X - Z><-\\3 O

>0

/\Z)z XT=Ux +1 = L1+ X—=\=%2(3

&5 1Y -

- CX=1) v =\x207
¥ -1 =2

7. Find all values for: fix)=x> + 8x + 11

where f(x) =20
%%+ Ex v\l = 20

‘ -0 -Zo bﬁm \Xﬁ\
X 4+ %% =4 = O -
(x+a)x-1)=0
Xt+& =0 x—\ =0
X 8  Fi -

Find an equation of a parabola that contains the 3 points
(1,4), (1,2) and (1,13)

Q(\)L‘f LW+ = y = atbt+co=4 % %tgﬂ\;z:i
C\(’\)L‘Af \')(,“0 + (=2 = O - b+Q :"‘2; CQU\ : {l(ﬁ:ij/}/
3=> Ua ¢ 2bvc=h ‘zaW-Lt
a(2) + bl2yrC= Hqﬂbfg

T.OC:\ + L - 

(2t v3x 0 | Sy

oo

—a =3 =
3273 L
o t=-\) ”5) Zc\+2(~‘\\ 2= Ja=U=022)= 2+b-1=\
9. Give the discriminant of the followmg & tell e what the dlscrlmlﬁéht value means: \3 v 1z Y
f(x) =6x* — 48x + 96 b 5
(~48) — 4(e)(Ab) = 2304 = 2304 = O

*Y\\\S e onsS Jr\\O\¥ "&Y\\,Q PO\\'Q\DO\Q \F\Q§

Q\f\\\\ ul ?&~ wﬁ((’cep\‘ oY Q‘q\\ L
Cop) SOl P,
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10.  Given the following three ordered pairs, find the equation (linear or quadratic) that will
model the data most accurately. Show all work. For a linear equation end in slope-

intercept form. For a quadratic end in vertex form. [ RS
2 (32, (5.6) & (L6 el bHY) @’i{*ﬁ*v (3,2) s vetkex
=l g .o F 2 =2
52D :{ —1-(5) 4 W\léQAv c% 2 3\}\'\»\(*\15\’\’“\(:\73(3,
D\Q{’&\’“ U\’\ \(\Cc\—cﬁ D"g C\\t-~ ) o)
& et Lineor Bl }\j: alxa2) =2 G=0 ("L@)
5 1 -1 '\ F=a@®
X b (1,2),3,6) & (-1,-2) q q
w2 oy, =) 8., o=2
772 3 4l o
Cosxslrtw\—\- §\\>‘>e..3;. furnec” %: Q (;(J‘—%f "2
ﬁ»— =2 (X~ ) /
- 2 = Ix~2

\é + Qj Ry
11. Thelg "o wimg quadratic models the path of a projectile after it is launched. The

‘ gependent variable represents the projectile’s height in meters at time t in seconds.

Spate h(t) = -4.9¢ + 196t — 29.4

X a) Ho¥ o will it take the projectile to reach its maximum height? Round to 1 decimal. ¥ necescar
X1mum heigh V.
Nertex's x-coordimale
~(ae)
S 20 s

b) What is the maximum height that the projectile will reach? Round to 1 decimal. «£ e ceg g&ry
NS Wy ~oo A v e

Hzt\\ = -4 G00) + G(20) =794 = =\AL0+3920 —24 4

" ~11920.0 v |
X c) How long will it take for the projectile seazh the ground? Round to 1 decimal \F e cess vy
\,\ L.\CX -~ O Latker \V‘QC\L\MV'\S e h‘\urw\\‘\o.\o)h‘\‘ .

GO 1Akt 294 =0 = -1A(E-u0t+6)=0
b f= (U0 VUt —adlel Hos\isTe

2.0\) 2
12. Use a by-hand method to model the data and then use your calculator to model using _,tf;(:\ +39.7

g regression  {(-2,4),(-15, 0.5, (L -4), 3, 1), (3.5,/?)}

Z
:79_170

T gt .
I SR %z G (XM YT RQC;’(‘QSS\‘\G\’}M = 3185
j?; : a3 m,i@w-\‘%x%nq\ 2 3G9 %C
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OD: Q?—v )(L-'Z;\*r\
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Use a by-hand method to model the data and then use your calculator to model using

12.
{(-2,4),(-1.5,0.5), (1,-4),(3,1),(3.5,4)}

regression.

/&L DAl ug jprerone page

13. Solve the s;iitem uﬂ%g{inﬁn%tion,agg_agsdrwer as an ordered triple: \g’ \c‘
~ V& pX Ay Tz = (1) ~4y + Sy -1z = -ug 230 25
(?;“\ l)\ . 2 gxigy'?’l—f UX 428 -3z = 1 245
— Ty oz ca(log -z st e
.// R
@ voy-1H2)= -y O exw g oz =12
® Ox+ by -2z = kS
-5 ( \gfﬁ =232 = ~4)

| Oy ~24 = -4y
() 434 t3y

\Dx@ ‘‘‘‘‘‘‘‘ T‘ =10
% = -1 B A0y - 1532 =34
. A “A0Q + WHE = 320
(5) 2% —4 (1)~ H2)=2d JrisE=
ALK +U\y =24 ;52)&%\‘55:2%@‘2%3&%)@5 )~ 582 =-16
14. Solve the system using elimination and answer as an ordé‘i“‘eﬁ) pair. 52 - 2
~H(2x+y=6) =T )
3x + 4y =4 .
X~y = =24
Ax *L\g = 4 -
R | (4,-2)
~\‘O‘X - —;Q J
,T)' -y
X =Y
2 C‘\) -t \a‘ = (D
9 = -L
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